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oSS e 105,722 103,422 2,300
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— =X 0 1,694 A1,694
— Xt 0 385 N385
—ReRdsdE 0 462 N462
—2kA| 0 309 A309
LA TAMEMSAIE 22 0 9,639 A9,639
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< 10,788 8,182 2,606
Al 10,791 8,184 2,607
215,785 163,657 52,128
Dl 194,206 147,291 46,915
< 10,788 8,182 2,606
Al 10,791 8,184 2,607
215,785 163,657 52,128
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[ 10,788 8,182 2,606
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—HulY ZotE RX2el
1,500,000 *19H 2 1,500 6,000 24,500
e suttg sxizel
850,000 *1JH 2 850 2,550 A1,700
301 LELE NS 20,039 24,780 A4 TA
02 AL 2EH LGS (HAAS, W) 6,839 6,480 359
OSS= SAUSMD| JHUHAA =52
e 3602 *1,583MICh» 12 6,839 6,480 359
14 JIEt 2 a3 13,200 18,300 25,100
OMggs =8 &d=2
800 *35,000kg*40% 11,200 12,800 21,600
OHAEX, &&S =& &
5002 *4,000ke 2,000 5,500 23,500
SHAIE 8,951,815 9,604,168 A652,353
= 1,065,000 1,065,000 0
== 700,000 700,000 0
Al 7,186,815 7,839,168 AB52,353
AL 2 1,068,918 1,221,271 A152,353
101 e124d| 219,151 329,729 A110,578
04 JIZtN2Z2 S8+ 219,151 329,729 A110,578
onzgss e 219,151 329,729 A110,578
—JlZ2= 76,9603 « 1702 12H 156,999 229,033 NT72,034
— =g 76,9602 322 x 12 29,553 48,947 A19,3%
— Xt 76,9602 x7 U 12H 6,465 11,083 N4,618
-5+ 192,400 x 72 =128 16,162 27,706 A11,544
—2HAH| 3,000 x 1772« 12H 6,372 9,360 A2,988
—OtNME S P (QHNS}, NP, MK
) 100,000% x 122 +33] 3,600 3,600 0
207 AR 41,150 45,000 A3,850
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—BHEE 50,0002 x1 &+ 122 600 600 0
—JIE4e 85,0002 x6& » 122 6,120 9,180 3,060
Ot (S8HsE) 1,067,730 1,076,497 N8,767
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